TeATRd qarg Ao, Smfafus Tee e A o9 9 WWE e
firdfta wor whrfrarers fofaa weamm St Twes
fafdt @ 2002-23-3%

T T : S

BF YU FFHR THH BRI D |

e - A

. mqﬁwﬁmmmraﬂagﬁﬁﬁwﬁ%m

TR AFTIHA TP B 2 AT YROT T TR | (%0)
. ureT TS I T A o TegeE AgerEd TR Fifd
T FEHTEE! fae=a TR | . (Re)

3 T SEIORTE Q@A Q08¢ FN SV SHGEA JREW FH

mme@anﬁ@xaﬁwq@zamﬁmaﬁ

faa=m THE | (20
- wvs-B

frsft T TEart) Higd goEH g1 oo 2 faa= THER 1 (20)

. AueE SR TEEdE T AR THW U deive Serdden

T T R T 3 FE 9 e Tl ? %60 -

TR | © (%9)

: T E-C

.l famed MR Sww T Aves o e wiE

FEYMEE Jeod THad | (20)

o, AR favem fa@Tae SEGENET (Cross-cutting) AU GHAHGE

v -3 g1 ? dURe favounm 9 foumges IWEER YO
memﬁmmmﬁamwwﬁm
TR TR B ? ! . (20)

T R TSgE, TEEEe®] Gl - 2063 .



c. AUeH! e wifee s wmifse il T, TEieE

© Y WS TACH THGHE SRR e =t

TR (%e)
: _ | E-D :

<. UEE T Y T FORE T T8 IS Wl STEEE
ferdrerT TR | |  (20)

Yo. TR S T W T TG S Fohe G FEE % T2
W i FehesTe qh WH & TS ? Ieod T | (X0)

PSR "



i e

mﬁ“ﬂ afafes T fafi= FAVEE, wrar S @ EE

Key (B)

oy =SS ShrTaas fofaa wiEm
093/%0/33%

TE:- L W0h 30 AT . UH:-WGW Ig:- 200
foreg - goalae SARUee TE(Administrative Aptitude Test)
A 'ﬂgﬂﬁﬂ’qﬁ T¥ (Objective Multiple Choice Questions)-200X ¢ =00 HF

mmxe,-mmmﬁmumm
T ® §18 | 8 Feged (Calculator) 41T T UER & |

Part (A) — General Awareness G0 1

1.

TU e SEEE U/ 58 ... I SHIET D |

Article 58 of the present Constitution of Nepal has the provision of ...... '

(A) Teh! FTEAT (Structure of the State)

(B) TaARHH ATSHS (Distribution of State power) -

() AT ATYHR (Residual Power)
(D) aiferaRt arl’t qfq ﬁi‘i‘[ (None of the above)
2. ‘maﬁmmmmmﬁaﬂnﬁm

Consider the following statements related to the constitution of Nepal

5

]

TiufrE freme e afte dfaaed Weia H9g ¥9eE 99
5 |

Constitutional Bodies submit their annual reports to the federal
parliament.

ﬁmﬁmﬁmuﬁﬁmmwml

Deputy speaker ‘of the House of Representatives is the member of
Constitutional Council.

feqefm Tt a1 Tewa T HaueE e Feu HEH!
o e

Pradesh Governments have the constitutional rights to sign on the

‘Bilateral Treaty or agreement.

maﬁ@m,mwﬁﬂ@;ma

¢



4. Tfga geam JRSgsH! GIEm AUS TUEHREH T uied e |
Chief Secretary of the Govemnment of Nepal is the member of National
Defense Council.

wifY SfeefEd Fereem 7 3 /g ?
Which of the above said statement(s) is/are true?
(A) 1,2 3HF (1, 2 and 3 only)
© 21 4M (2and 4 only)
3. TrefefEn Fomes 79 37 T i €8 2 TR |
Choose the statement which is NOT correct among the following.

(A) 2015 HIoH H&A Higawl WQorE @9 T/ AfEuiNg, gfaes
e TR ol |

Cabinet Secretary position was created abolishing the position of Chicf
Secretary in 2015.

(B) 9 EkS deEn S Ted ™ gE e
Buch committee recommended to establish planning commission.
(©) CISTET T Yo FAUYH T YRS oIt T |
Daudaha Pratha was first time introduced by Chandra Shamsher.
(D) U] THEm Sefirs wifger 29 e |

During Rana Regime, Munshi Khana used to look after foreign affairs.

4. W A HY G afiE siw iR SR afae T we
 TEw s ?

What is the average annual growth rate of agriculture sector targeted to
achieve in the thirteenth plan. '
(A) 4% (B) 4.5% (c) 4.7% (D) 5%
'Price Floor' means ....
(A) Torhames FER T TR T e 35
The lowest price at which a seller is prepared to do business.
(B) THE GiE WMH, o1 T @l 1@ O

The total cost-of direct purchased material, labour and expenses.
(€) THfr Eig fasme = -

A contract for buying and selling an asset.
(D) Wi 7 ofT g

None of the above

| [R5] wtw wrrey v B



Wmﬂﬁ@@m%ﬁqmmﬁwm
2T 2

Which of the foilowing was NOT constructed by the Chinese government's
assnsrance”

“(A) HISHTEI- A (Kathmendu-Ringrosd)
(B) G2 B (Prithivi Highway)
() OrrE-ft TSF (Lamo Sanghu-JiriRoad)
(D)3 TS (Araniko Highway) |

Toes Tz o) &fa o ?

What is the length of Silk Road?

(A) 6550 km (B) 6500 km

(C) 5500km (D) 7500 km

frerfafa Semear f=r H |

Consider the following pairs:

Sofaga smEeE T e

ﬂljidroelectric Project & Capacity) - (District)

. TEERE T 141 WTER (Devighat & 14.1|- Tﬁmz (Nuwakot)
MW) '

2. T%Y% @ T 12.5 HER (Jhimruk Khola |~ GIB@T (Dolakha)
& 125 MW) .

3. W& @IS T 14.8 AR (Modi Khola & |~ T&d (Parbar)
14.8 MW) y i

4. Tofdz—@er T 100 FER (Spring Khola N B
& 100 MW)

uﬂ‘aﬁs@@mn@maﬁwﬁmH@ﬁ/ﬁﬁ?

Which of the pair(s) given above is/are NOT correctly matched ?
(A) 2 9T (2 only) (B) 1T 3 AT (1 and 3only)”

(C) 2V 49 (2and4only) (D)1 T4 HH _
T 1 L nef St frorsTeg T Aefe e wE T @
IR TR | '

Match List I with List 1I and select the correct answer using the code gi\-rcn
below.

T SR TEEH, TETEERS! W - 063 '



= 1 (List D) |1 I (List 1)
[rEw(% G (Public Enterprises) EE® (Sectors)
a) gy ooy Fem 1) SR &
(Dairy_Dcvelop;ment Corporation) (Commercial area) '
by TIR@T TIH 2) fa9a &1 (Financial
(Gorkhapatra Corporation) Sector)
¢) HUS G HEH 3) ArefiTeR €13 (Industrial
(Nepal Food Corporation} area) '
d) AU BHUET GR=IE |4y * SETIENT €1 (Public
(Nepal Water Supply Corporation) Unit area)
: 5) WIS &1 (Social
Sector)
6) . Tar @fﬁ' (Service Secmr)
HE (Codes): _
(A) a-3, b-6.c-2.d-5 (B) a-1,b-5,c-4,d-6
(C) a-3,b-5.¢-1,d-4 (D)a-6,b-5,¢-2,d-3

10, TEAd: S8TEH A BA e Y B ?
‘Which of the following is not major green house gas?

(A) TTESA (Nitrogen) (B) ST (Methane)
©) FETSETAES (Carbondioxide) (D) S@ATSH (Water Vapour)

1. IEfE (crres) T TEfyd 5 ?
’ What is CITES related to?
(A) ferTeh TIETUT (Preserving Mountam)

(B) w TIETT (Preserving Sea)
(O H{Fﬂm e FIETo (Preserving Archa;o]ogical Property)
(D) ?ﬁ"ff:ﬁ@ ST T YY[&(Tehl W& (Preserving endangered

animals and birds)

{3 SRIUA, g%smmﬁwwwm
(9fa =i foraifret) |7 © ?

Among the following. districts, which one has the maximum population
density (per square kilometer) according to the census, 2068 7~

(A) ST (Dhanusha) (B) YHTUT (Jhapa)
(C) T'nTS"(Morang) (D) TIET (Rupendehi)

: T TPy X W 5



13.

14.

15.

TR TEl TR UfES THIIAT WO G0 € 51 o ?
Which of the following was the first established conservation area ?
(A) 31=|"I?f HIET €1 { Annapurna Conservation Arca)

(B) WG TLETOT E15 (Manaslu Conservation Arca)

(C) THESTSE TIETU £ (Kanchanjangha Conservation Area)
(D) TI9TeRT HY&TUT &1 (Gaurishankar Conservation Area)
eI FYTEE Al faEr TR |

Consider the following statements:

4

12 9%e T 2005 | BELHA |

Kyoto Protocol came into force in the year 2005 )

FR T FEadl: 3 98 TeIHT FeEid O |
Kyoto Protocol deals primarily with the depletion of the ozone layer.
TR e wO FEEEARRe R B st
TR B |

Methane as a grcenhouse gas is more harmful than carbondioxide.

IR AH FF o S EL? - '

Which of the statement(s) given above is/are correct?

(A)
©)

1T 29 (1and 2 only) (B)1T 3 HIA (1-and 3 only)
1 I (1 only) (D) 3 91 (3 only)

T 1T g 119 e e T 9 I SR |

Match List I with List [T and select the correct answer

forva amTaRy feaw fawa i L
(Theme of World Environment Day) : (Year in A.D.)
a) THFT EI9e® adl Soary IREd 1) 2015
(Small Islands and Climate Change) :
2. g HfomaTy : & qUE poR WeWwil|2) 2014
Tl'ﬁ@ ? (Green Economy: Does it include you?)
¢) - FAF UG | TH T | TH WA | 3) 2013
(Many Species. One Planet. One Future) : -
d) I| 6 GUA, U YeAIAR, TEUEEe|4) 2012
9 T | (Seven Billion Dreams; One Planet;
Consume with Care) _
¢) WrEl | W3 | F=ST | (Think. Eat. Save)  |3) 2010
(A) a-2,b3,c4,d-1,e-5 (B)a2 b4, c5,d-1,e3
(D) a-4,b-5,¢-3,d-1,e-2 (D)a-3,b-5,c-4,d-1,e-2

T S Toge, FEIAEhE] el - 063




18.

20,

2. ﬁaﬁ?_‘@' (Vitamin D) |- TH3TETAT (Anemia)

T W A 2 iy

Which is NOT correct?

(A) CFL = Compact Fluorscent Lamp
(B) LCD = Lead Crystal Display

(C) SCT = Smart Choice Technology
(D) CRT = Cathod Ray Tube

TSR FHS ATSHR TH & 7

Who invented Radar?

(A) Antoine Henri Becquerel

(B) Max Karl Ernst Ludwig Plancl
(C) Sir Robert Alexander WatsonWatt
(D) "Sir Humphry Davy

Potassium Nitrate @1 a1 TANT TO 7
Potassium Nitrate is used in which of the following?
(&) f=t (Sugan) ; (B) TS (Glass)

(C) VHHEHS: & (Chemical fertilizer) (D) 39 (Medicine)
TTdeh! Tal = L. M §2D |
Red Blood Corpuscles (RBC) are formed in the ...,

(A) WHEI TR, (Small intestine)  (B) FTERFT TrEht (Bone Marrow)

(©) TS (Liver) © (D) TR (Heart)
ﬁwferﬁaa Srerwar faem TEy |

Consnder the following pairs:

frafi (Vitamin) FHIEE 1 AT (Deficiency disease)
1. I ¥ (ViminE) |- R@ed (Rickets)

3. THafm E (viaminc) |- = (Scurvy)
4. Tuafm T (Vitamin A) |- W:Eﬁ (Night blindness)
Y fegut Sierensd 7 Seysiens wet s/ ?

Which of the pair(s) given above is/are correctly matched?
(A) 1T2WS (1and2o0nly) (B) 3 T 49 (3 and 4 only)

(C) 49 (4 only) (D) 2,374 wrsr (2, 3 and 4 only)

TR Frffry X .



21

22.

23.

24.

25.

& oo ? a

Which of the following statement(s) about famous scientist Albert Einstein
is/are correct?

1 T S HREET WO A | (He was born in France)

2. S T 1921 A A6 E(EBT( T I 1 (He received Nobel -
~ Prize in 1921.)

3. T g AT ST PR (He was died in USA)

(A) 1,23 3T (1,22nd 3 All) (B)1 T2 H (1and 2 only)

(C)2¥ 3HIH (2 and 3 only) (D)1 T3HA (1 and 3 only)

T 2015 H1 ASEAN (Association of South East Asian Nations) ¥ fiT@R-
TS FaEl g ol ?

Where was the ASEAN Summit held in 2015 ?

(A) 9ETIIUS (Thailand)  (B) FHTIYT (Singapore)

(€) TERRMI (Indonesia) (D) TOHAT (Malaysia)

FeE! 7 e AT HET HITH! Special Drawing Rights (SDR) 3
TR Tehe v 98D 2

Which of the following currency has been added to the International Monectary
Fund's SDR basket? ,

(A) EfEET ST (Australian Dollar)

(B) TEH WATE (Swiss Franc),

() TRl (Renminbi)

(D) BRI (Lira)

TIH W Wl TSI9H Hid ¥R 9 2

How many Articles are there in United Nation's Charter?

(A) 110 (B) 111

(€ n2 (D) 113

Fig 99 YIS Hies 9o Ui JESR I1d T fmﬁ ?

When did the International Labour Organization receive the Nobel Peace
Prize? ; ' )

(A) 1969 A.D. (B) 1970 A.D.

(C) 1972 AD. (D) 1973 A.D.

IR AR, UTaE, mm-‘«m

-



26. A VIR 90 D ?
Which statement is wrong?
1) EUSH 9YH SEfed Semmm s | .
The Head office of EU is in Belgium.
2)  ASEAN F! Y[ FE(od FeRfaam agge T @ |
; * The Head office of ASEAN is in Wangdung of Indonesia.
3)  TERfEae g e ufvs

Indonesian Money is called Rupiah.
(A) 1T3(land3) (B) 2 HIF (2only)

(C) 3 ¥ (3 only) (D) 2Y3 (2and 3)
27.  FrefofEa Serean fa=m wHeig

Consider the following pairs:

e et geq FATT T (Held Place)
. (SAARC Summit)
(1. Tl RS WEOT (Fificenth |- T4 1G0T (New Delhi)
_Summit) ;
2. R freR a=ed (Sixteenth | — ﬁ"ﬁ(‘i‘himpu}
Summit) '
3. T3l RTER ST (Seventeenth |- @ (Dhaka)
Summit) )
4. 373RY fRTER TG (Eighteenth|—  FIGHTS! (Kathmandu)
Summit)

Y ST SieR® 7ed F el SIey/SIeRE s/E ?
- Which of the pair(s) given above is/are correctly matched ?
(A) 1,2,3% 4’8’3 (1,2,3and 4 All) (B) l_'( 39 (1 and 3 only)

(C) 274 A (2and4only) (D) 4HT (4 only)
28. WK EHI Higowee FefaT e TeF IWTIR g T AaeH
T+ Hfes sTEla g forg 2

In which of the following year Saudi Arab allowed women to vote and contest
in elections time?

(A) 2012 A.D. . (B) 2013 A.D.

(C) 2014 AD. (D) 2015 A.D.

20, ufiga 7a1 A, 2072 D F IR TEOR T T Fow B 2
Which are group is defined as 'Youth' by National Youth Policy, 2072 ?
(A) 15409 (1540 year) (B) 1640 T (16-40 year)
(C) 1649 ¥ (1549 year) (D) 18-45 T (18-45 year)

. B TPy R L Ry



| -Arabsprlngmmﬁﬁ%a@mﬁwaﬁ%mw@

30.
2 2?
A series of uprisings movement referred to as 'Arab Spring' originally started
from which country ?
(a) 3N (Egypr) (®) fee (syria)
© TofEa (Libiya) (B) ZAFARTAT (Tunisia)
3. 2015 F FHEITTE R TEHR TGN HHOT 95 R ?
Who was awarded Confucius Peace Prize by China in 2015 ?
(A Ta T (Robert Mugabe)
(B) HOTET GBS (Malala Yousafi Jayee)
(C) O HATHT (Kailash Satyarthi)
‘ (D) I ﬂ;ﬁ TfY S5 (None of above)
32, Asian Infrastructure Investment Bank (AlIB) ST HE=-HI = uRE
foram e |
Con;xdcr the following statements relatmg to Asian Infrastructure Investment
Ban
1. TS A '{\_rﬁ 100 Tafeaa STaf@T SS T | (its authorized
; capital is 100 billion US dollar, )
2.  THH UM FAST =TS FEI'IQFW D | (lts headquartcr is. in
Sanghai of China.)
3. YA 9ed m A qﬁTﬁFﬂT el @ | (Every member
country has equal voting rights.)
Hiferepl AT Eil g @/"E:[ ?(Which of above statemcnt(s) is/are
correct?
() 1, 21311%(1 2 and 3 all) . (B 1313(1and3)
(C) 1 HH (1 only) D 1T2(land2)
33, Trafelas Sersar fF=r nﬁ@q 1
Consider the following pairs:
W (Country) s @P (National Sports)
1. M (Bhutan) |- S (Archery)
2. STMORY (Bangladesh) - Wfea® (Volley Ball)
3. WA I I (India & Pakistan) [~ @1 (Hockey)
4. TOfgE 1 IUSHTHAT (Malaysia & |- 9@ <9 (Table Tennis)
Indonesia) ’

maﬁ@mm.wmm-ma

i




iy fegTet Sewensd 57 1 78 Sews 5 ?

Which of the pairs given above are correctly matched?

(A) 1 T3HEA (1 and 3 only) (B) 2¥ 4 HIA (2 and 4 only)
(C) 1.2 4 T (1,2 and 4 only) (D)2, 3T 4T (2,3and 4 only)

3. Frevfofen rewean faer T |
i Consider the following pairs: .
FATE (Award) . SfBA (Personality)
1. T&w a@m e, 2015 - g A, st
(EIFA Ballon d'Or, 2015) (Lionel, Messi, Argentina)
2. oW dfew fova of Qo |- o stew, st
2015 (FIFA Women's World Player (JIII Ellis, USA)
of the year, 2015)
3. fow ufeer fawa ov wfess, |- FI D153, A
2015, (FIFA Women's World Coach (Carli Liovd, USA)
of the year, 2015) :
iy fezuant SieeE wa FT FT W ST Ag 7
Which of the pairs given above is/are correctly matched?
(A) 1,2 T3FS (1,2and 3 all) (B) 2T 3 | (2 and 3 only)
(C) 2 HIF (2 only) (D)1 HH (1 only)
35. W IR EE nE Siel freeggg
Match Gro_ilp [ and I and Choose the correct answer.
WE 1 FARG (Group I Person) T 1I T4 w1 (Group II)
a. YT (Socrates) 1. U qﬁm (Greece, Athence)
b. IS A (Karl Marx) 2. STEEIAT (Albania)
c. W 2 {(Mother Teresa) 3. S (Germany)
d Tove s (Sigmund 4. 3fEAT (Austria)
Freud) '
(A) a-1,b-3,c-2,d-4 (B) a-1,b-2,¢-3,d4
(C) a-1, b-3, c-4, d-2 (D) a-4,b-2,c-5,d-1
3. oo i w9 G o 2
Where is the Great Victoria Desert located in ?
(A) = SIFHHT (West Africa) (B) FAET (Canada)
(€) ST (Australia) (D) FFETT STARSH (South America)
0% | =8 FRfrafey e W s



37.

38.

39.

40.

forearah T o Yoo w5 9 2

Which is the world's longest railway line?

' (A) GUTH I (Kharagpur Railway)

(B) 29 WIEATET 19 (Trans-Siberian Railway)

(©) IS (Asian Railway)

(D) WY @ ﬂﬁﬁ?‘lﬁmone of the above)
=t T 9T g3 e g e e B o 5 2

Which districts of Nepal touch to the boarder of both China and India?

(A). TTH[E T SSTY (Taplejung and Dadeldhura)
(B) T T $&M (Darchula and Ilam)

(© % EFa,‘BT (Jhapa and Darchula)

(D). ATHYE X TS (Taplejung and Darchula)
et fosfia Svies s e e |

- Consider the following countries. s

I STRfSAT (Australia) 2. TFHRIAT (Namibia)
3. WSS (Brazil) 4. faf@ (Chiti)
WMHQ@@M_WWWW 7.

Through which of the above country/s does/do the tropic of Capricorn pass?
(A) 19 (1 only) (B) 2,3WHIA (2,3 & 4 only)

(©) 1,2I3WH(1,2and3 only) (D) 1,2,3% TS (1,2,3 & 4all)

T ¥ HRREte Sie frerE qom 1 9 9% @ 2

Which of the following matching between river and continent is correct?

&t (River) - HEIRH (Continent)
a TS (Ura) 1. ST (Australia)
b. ES (Nile) 2. g9 (Europe)
c. W (Murray) 3. 3iHer (Africa)
(0. em (Volga) 4. TFEAT (Asia)
(A) a-4,b3,c2dl (B) a-2,b-3,c-1,d4
(C) a-4,b-3,¢-1,d-2 (D) a-4,b-2,c-1,d-4

1 ST T, FEIAEHD] WA - 063 '



41.

42.

43.

45.

SR W SH/eSF & g 2 TARTE |
Find out, whether the following statements are right or wrong 7
1. THESEY YAgrRAT Efted © |
Sicily Island is located in the Mediterranean sea.
2. I STOEHE YRAH QHSAIG 3 STOHE H=IReH SaHl 78 |

The Palk Strait i$ a strait located between Tamilnadu of India and
Mannar of Srilanka.

(4) 13253 3% (Both 1 and 2 are right)
(8 17273 A31F (Both 1 and 2 are wrong)
(©) 1319 271 (1 right and 2 wrong)

(D) 2 31% 1 TT&T (2 right and 1 wrong)

q@E AL H WHSYT T SR ?

Which one of the following was not Sombanshi King ?

(A) & (Matachhaya) (B) TSR HI (Vaskarvarma)
(C) ‘Ifq'al'q'f (Bhumivarma) 20 (D) A<t (Anandavarma)
A% HURIST AUToh! B (ool Wl B ?

In which district is Tharu Museum situated ? -
(A) TFE (Sunsari) (B) a7 (Chitwan)
(C) (AT (Bardiya) (D) ST (Kailali)
e Ufed! Uit STTHEEST R g 2

Who is the first female Deputy-Prime Minister of Nepal?

(A) WEMI YN (SahanaPradhan) (B) TodiRal 9=l (Bidya
Devi Bhandari)

(C) ‘ﬂ?m s (Shailaja Acharya) (D) HSirar W (Sujata

Koirala)

TofEa SFTIERL Yaats Wit S SSER 9T Yo o |

After the fall of Nepolean Bonaparte, Peace Treaty was signed at .

(A wHueH (Versallles) (B) af%’fq(seﬂm)

(©) THFT (Vienna) (D)  URF (Paris)

TR Frefafoy dex m &



46.

47.

48.

Sirer fHoRTR |-

Maich the following.

THE A (Group A) HqE B (Group B)
a Vgl ﬁ?&l (Bhawani | . wﬁ(Urwasi)
Bhichhu) .
b. FEfG=TT S (Siddhicharan |2. TEIE FTH (Palpasa Café)
Shrestha) . )
c. AREY  gro {Narayan | 3. W FIE TS (Mero
Wagle) . 'Bayasi Gazal)
d. m ﬁﬁm (Bham Nidhi | 4. W (Gun Keshari)
‘lear!)
(A) a-4,b-1,c-2,d-3 (B) a-1,b-2, c3 d-4

(C) a-2,b-3,c-4,d-1 (D) a-4,b-2, c-1,d-3
W]walmmﬁmzmﬁmme

Match Group [ with Group 11 and select the right number from the code.

9% I (GroupI) HHE 11 (Group II)
a. Wfth YT9T (Bhakti Thapa) |1. WO g7 (Malau Durga/Fort)
b. R fog gmm (Ranjor | 2. W(Nalapani) '
Singh Thapa) '
c. R 9OYR (Bir Bal Bhadra) | 3. 51Ul fehe@ (Jaithak Forr)
d HEA TET@H  (Capt 4. THHONTGE et
Kinloch) _(Sindhuligadi Fort)
FIE (Codes):
(a) (b) (c) (d
Ay 4 2 3 1
B 3 1 o 2 -
(8 2 4 1 3
Dy -1
ECEUIRNIEI a@ai‘l ESINE m TREH farlz ?

Who estabslihed the "Khadganishana" Adda?

(A)  SIEITERIGT U9 (Jung Bahadur Rana)
(B) o VMR (Bir Shamsher)

(C) =% WIHYR (Chandra Samsher)

(D) & YR (Juddha Shamsher)

maﬁ@m.mmm-?wi



49. YeRie 9 faeris o 51 favg vde 2 .

Which of the following does not come under the Five Principles of
Panchasheel?

(A) HEEEY (WNon-interference)
(B) - Y& (Security)
(C)  SAATHHTT (Non-aggression)
(D) Yl'l'i:_vl"ff‘f TS (Peaceful co....... )

50.  ANTRE TSR SR TS et ok F B 2
Which is the first country to bring the concept of citizen charter?
(A)  3TARE (America) (BYSITY (Japan)
(C) ST (England) (D)STHAT (Germany)

Part (B) - Aptitude Test 30 x 1 =30

S WEHT A N SRR |

Find out the odd one
(A)  Snore g (B) Slumber
(©) Yawn - (D) Doze

s2. WA o= (2) ofaus oda & ads 2

What will.come at the place of question mark (?) in the following ?

HIJ: MNO=RST:? ’ .

(A)  WXY (B) UVM

©) XYZ (D)  None of above.
53. A CONCEPT ¥% unmulgr T FRIEND O yselmt HIHT g w3

PREDICT i &I il Sfig=s 2

If CONCEPT is written as unmulqr and FRIEND is written as ysglmt, then

“how is PREDICT that code?
(A)  usygmnl (B) slmgtur
(C)  gsltgur (D)  qgmnitr

54, weUIo SETOE @ gEfa oo B, R T amt wek 20 L 2R
s o Tl T RS T FE T Q@ | S
ol Pre | e T 100 L SRRR TR W1 s e
forgare =fa a1 Fiofe s s@erE e 2

A child went 90 m. in the East to look for his father, and then he turned right
and went 20 m he tumned right and after going 30 m. he reached to his uncle's
house. His father was not there he went 100 m. to his north and met his father.
How far did he meet his father from the starting point?

(A)  80m _ (B) 100 m

(C) 140 m : (D). 260m :

[499] vt wrrerg dee m



35.

56.

57.

4 T A SRS (21) THRARE] ST B 1B SISE (20)
ot wEW T | AR pw WA UREdd TRl A AR (28)
sigorel T §9 W @9 O A’ 1B 9IRS B S
=Afhes B9 7 '

In arow 'A' is in the 21th position from the front and 'B' is in the 20th position
from the last. 'B' interchange, then 'A’ becomes 28th ‘from the front. How
many persons are there in the row 'A’ and 'B"?

(A) 4 (B) - 45

(C) 46 (D) 47

et 7 e T S EES o ggad P T O

 fmwdr w1 fr free R T R T e e v o

e A, B, ¢ I D HeHeR TE fawed SR | -

Direction: In the following question, two statements are given which
followed by twonumbered 1 and 1I. Read the conclusions and which of the
given conclusions logically follow two given statements choose options A, B,
Cand D.

T (Statements): ﬁmmg{uqﬁwwﬁl

All dogs are rats. All rats are hens.

11 (Conclusions): (i) el R [GT T, | (Some dogs are hens)
(ii) | HEU JH1 &1 | (Some hens are rats)

(Aj It R 1 © Hifegenl WAR fa=s@ | af only conclusion I

follows the above statement.) \ ,

(@) A feEs 1 o Wiuw W fES® | (f only conclusion 11
follows the above statement.) I

© = FeEE m A 5 e el A8 RS | (If either
conclusion 1 or 11 follow the above statement.) '

o) e freEE 1o g0 Wi wE REEET | (0 either

conclusion I nor 11 follows the above statement.}

W@‘WWM|WWWW?W’@
Se St O SROSE! S SuE! wEer el | Bl 36 I
T I 7 A THOEE HIA Al W AT W " WA e
w Troes MY ger, ?

Krishna had a packet of chocolates. After eating the first one, he gave half of
what he had to his brother. After eating another one, again he gave half of

mmm.mﬁmﬁms



what he hs‘ci left to his sister, leaving just 7 chocolates. How many chocolates
were in the packet to start with?
(A) 28 (B) 30
© 31 : (D) 34

58, @G P Q IR B K, L I M U R o W R ww
IFIER 99 9= B9 | P A L #1HH K T M o g
Ao | WWW@?IQ,&W@WWW
U T ?

Three men P, Q and R are married to K, L and M but not necessarily in the
same order. P's wife husband play K and M's husband at bridge. No wife
partners her husband and Q does not play .Who i is married to Q7
4 K - (B L

© M : (&S S (@ I
YT (Date insufficient) '

s9. T fofEm fomm ey |

Consider the following:
1L AVB NI D | (A is taller than B)

2. 'C,'A' ¥R 3O B | (Cis taller than A)
3. 'D,'C' W= 3R B | (Dis taller than C)

'E' FAYT TS B | (E is the tallest of all) _
wl‘a fofeeer @iy fedumt SigEehl TE ATER s@fed 9w
HAYT steehl T ST B ?

If they are made to sit in the accordance with thelr height order, who will

occupy the middle position?
(A) D M) C
(C) B D) A

60. Wmﬁmﬁﬁqrmﬁs@mmml

Consider the following figure and answer the item that follows:
108

108
= mmmm@mmmﬁw '
msimﬂmwmmamﬁmw
SATEEH EEGe e TS B | e 99 o See iy

Tt =1 (smfa) =1 welw qeeER swEe shfifie 8 2

A square is divided into four rectangles as shown above. The lengths of the
sides of rectang]es are natural (whole) numbers. The areas of two rectangles

m 193] =t wrerureg drex w



61.

62.

63.

are indicated in the figure. Which one of the following numbers does not
represent the length of each side of the square (figure) given above?

(A) - 31 (B) 28

(€ 24 ; (D) 21

W Yoo 2 o 10 I QoEEE W o | o
wmmm@wmum@mmmﬁ

o 5 R G AR 2

There are thirty players ready to play a table tennis single tournament. There
is no provision of ties each time the player who loses a game is out of the
tournament. What is the minimum number of matches to be played to
determine the winner? ‘ - ‘

(A) 25 . , ' (B) 30

©). (35 ¥ D 29

o 44 Fire s A o SR o Ton S e Rl W3 2 7]

s wh i firfe ol 2

How many minutes is it before 12 noon, if 44 minutes ago it was three times -

as many minutes past 9 AM ? ;
(A) 24 minutes . (B) 34 minutes
" (C) 44 minutes : (D) 54 minutes

AR MBx, DB+, A D+, ST~ TAET W 25S72D12A1M6

G SRR |

If M denotes %, D denotes +, A denates +,. S denotes — find out the value of ‘
25S72D12A1MS.

A) 25 (B) 30
© 3 D 2
T I TGS AR ?

What number should come the blank space?

G = q = ”L
] 15 i - 288 | -4 2601 2 i
gy = | 7 7__§ |
9 { 12 )
( ) St
i TR
2 13 15 |

x| e

L= @ s e ] J__)

= A

a {143 | |

@A) 3 (B) 4 ©) s D) 6

mmmm,mmﬂm-ma

.



65.

67.

68.

69,

Frefefaa a1 yefee (2) faws okdq & s 2

What will come at place of question mark (?) of the following series?
68812086123688123468612345.68?

A 8 . B) 6

© 4 LDy

RE & w9, mwzmmﬁmm?aﬂwaﬁtm

Wﬁﬁﬁmﬁﬁ%ﬁﬁﬁt’iﬁ%ﬁﬁ-?ﬂfﬁlm
irga =9 i e ?

. Fhmily consists of two, grandparents, two parents and three grandchildren. The
- average age of grandparents is 67 years. That of the parents is 35 years and

that of the grandchildren is 6 years the average age of the family?

4 ; 5
(A) 28— years (B) 31 7 years

(©) 327 years ' (D)  None of above.
@Wzoﬁwsmmﬂa‘mmmsmmt
6 dith HM 3 A TRET | B S S FH I 4 G F
Hid form g fag 2

A does 80% of a work in 20 days. He then calls in B and they togethcr finish
the remaining work in 3 days. How long B alone would take to do the whole *
work?

(A) 23-;- ‘days -(B)  25days
© 37%days ’ (D) 40 days

8 BfEl A B, C,D W AT 4:3: 2 13%3@:@%677133;
T ¢ B 1000 5 TES WX A BT AT F GES 2

A sum of money is to be distributed among A, B, C and D in the propomon of
4:3:2:1.If C get 1000 more than D, what is A's sharc‘?

(A) 2500 (B) 2000
(C) 1500 (D) 4000 -
I 9T BT et SR | .
Choose the figure which is different fmm the rest. ~
4 1 3 3 5
3 X2{2 X5 [4>E15
51N\ 314\|/5 1

A B .C D

i TrePaiy e .



70.

71.

72.

e T et e et T Tt Al
FerworT TR T e Tl TRt Wt T o TR |

Group the given figures into three classes using each ﬁgure only once-and
select the correct using the code given below.

| £
) |7 | —~
S

(A 9,8,2);07,63);@451) (B) (9,8,3)(7,62);45, 1)7

© (9.8,2:(7.6,1);4,53) (D) (9,8 1);(7,6,2);4,5.3)

g fomre i 3l afeE oY, 2

How many squares are there in the given figure?

A 10 ST ® 7

©) 9 : D) 8
Tz Afeww T THEN |

Complete the given matrix:

Hhi
|1 t4

2 (M
mmmmmmwmmzﬁv

T AR AT, WIS S - 203



-

W]nch one of the followmg figures fits into the blank part of the above
" matrix;, :

H = =
A B-=* @ D
73.  WwfteE (?) mmmﬁmﬁiAnswerFlgures

e A L

Select a suitable figure from the Answer Flgurcs that would replace the
question mark.
Problem Figure Answer Figure -

ADO@ OoA| 92 Aé& @ E

A B © O

74. ﬁ‘?VenndnagrammWﬁwm qﬁzﬁuﬁaﬁm
& Tiss ? .

Which of the following Venn diagrams indicates the best relation between
Hospital, Nurse and Paitient ?

A. (@ B. 4
C. D. Oo

ﬁw:mmmmﬁ-

The next 2 questions are based on the following table:

mmasmmmmmmﬁm
femis

The following table shows the frequency distribution of weekly wages of 65

employees.
T wa | e uqsn
Wages (in Rupees) (No. of employees)
251-260 8
261-270 : 10
271-280 _ 16
281-290 14
291-300 10
301-310 . 5
311-320 - 2

SR PR ST T
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76. -

Tr

it v FHeRlIeEs FAE 9 @ T. 301 W1 FH T E. 260
T D ?

What is the percentage. of employees earning less than Rs. 301 per week but
more than week?

(a) 8923 : (B) . 7692

(C) 7240 (D)  61.50

mfé. 261 2@ %. 300 T FAE T FHEREE T 9 w9@ 5
281 W FHH FHE T FHURIGE S1g hiq Graeraan B S 7

What is the difference between the percentage of employees earning between
Rs. 261 per week and employees earning less than Rs. 281 per week?

(A) 1542 B) 246
(C) 3692 (D) - 40.00 3
e aifosm 7 T e 9R Rl SHEge 1 S STRHE
e B:

The following table gives population and total incomie of a city for four years:
Year . 2001 |2002° (2003 |2004
SHEEAT (UTEHT) Population (Lakh) |20 |21 (22 |23
H=HT (. m) 1010 |1111 |1225 |1345
Income (Rs. crores)

ﬁr;mm@maﬁmmawgﬂwﬁmnﬁ@ ?

Which one of the following statements is correct with respect to the above
date?.

- (A) uﬁmaﬁs%‘m@rwaﬁ%m@q@w@%

(Population increased by 5% or more.)
(B) YA ¥ ;o%mtﬂwaaﬂ@mmqﬁgu@l

(Income increased by 10% or more.)

(© ufd =fe gt Hed §. 5000 YT WA | (Per capita income

was always above Rs. 5000.)
1”=r=r 3 UYTRE qoh! aifesrn e B9 1

The following 3 questions are based on the given table.

e foeneffewe faemea SH w6 T wuR wEE i

The survey results of the means used by the school children.

waﬂ@mm;mm-awz



S
30 F
25 k-

20 F

10 F

Cycle Walk Train Car Bus
78,0 WA BIHYE WA & WD ?

What is the most popular means?

(CVIS HIEFS (Cycle) ‘ (B) wH(Bus)
(€) FCar) (D) U@
(Walking) ;

79. wwﬁmmwﬁwmﬁ%w?

How many more children travel by bus than by cycle?

(A) 10 (B) 20
. (C) 30 ' . (D) 40
80. i SreuEE et e s 2 ;

How many children do not walk to school?

(A) 60 - - (B) 70

© 80 ' (D) 90

Part (C) English Language Competence Test. ... 20%1=20 Marks

Read the passage below and answer the questions that follow:

Ordinary men and womien are, for the most part, aware that there are many
mattersas to which their own personal’ judgment is not wholly trustworthy. They look
about the world anxiously for founts of wisdom, and by placing their trust in them
they arrive at a comfortable certainty.Savages trusted the medicine man, who by slow

- stages developed into the priest. The priest is being succeeded by the physician by the
man of science. The man of science in general (though there are honorable
exceptions) is nothing loath to take up the position which the public offers him. He
willing to make pronouncements about the laziness of the wage-earning classes, the
superiority of the Nordic races, ’

For the genuine man of science I have the highest possible respect. He is the
one force in the modern world at once genuinely constructive and profoundly
revolutionary. When the man of science is dealing with technical matters that do not
touch upon the prejudices which he shares with the average man, he is more likely to
be right than anyone else. But unfortunately very few men of science are able to
retain their impartiality when they come to matters about which they feel strongly.

TR TPy e T R



For example, every male student of the human brain is persuaded in advance than
men's brain are better than women's, When it was that the average weight of a man's
brain is greater than that of 2 woman's. This was held as proof of his superior
intellectuality. When it was pointed out that an elephant's brain is even heavier, the
eminent scientists scratched their heads since they could ot admit that their wits
were elephantine. Somebody suggested that the important thing is the proportion of
the weight of the body. But this had a disastrous result: it seemed too show that
women were, on the whole, cleverer than men. This would never do. So they said that
it was not mere brute weight that mattered but delicacy of organization. As this was
still a matter conjecture, it could be assumed to be better in men than in women.

Questions:
Choose the correct alternative,
81.  Which of the following statement carries the main idea of the first paragraph?
(A)  Ordinary men and women are aware. of the inadequacy. in their
judgments.

(B) The man of science makes statements about the laziness of wage-
earners.

(C)  The scientist of today tends to make pronouncements of political
interest;

(D)  The medicine man ultimately turns out to be a scientist through slow
transformation.

82.  According to this author the genuine man of science is:
(A) At once genuinely constructive and profoundly revolutionary.
(B) The one who is willing to make pronouncements about political
> matters.
(C) Theone who thmks of ‘hlmself as superior to others.
(D)  Animpartial man without prejudices.
83. The fact that man's brain is heavier than woman's proves:
(A)  Man is more intellectual than woman.
(B)  Any animal whose brain is heavier than others is more intellectual.
(C}  That human wits are elephantine because elephant's brain is heavier.
(D)  That it was simply an assumption which cannet probably be justified
scientifically.
84.  The reason for the statement that personal judgment is not wholly trustworthy is:
(A)  That many matters have scientific grounds.
(B)  That man's wisdom is faulty '
(C)  Thata man changes through time.
(D)  That the people of wage-earning classes are lazy. s
85. The scientist cannot be perfectly scientific because:
(A) He/she can have little Enowledge about the world.
(B)  He/she is a person of strong feelings. - | =
(C)  He/she follows something on the basis of impressions.
(D)  He/she is skeptic and thus never arrives at conclusion.

mm@m.mm-ms



Vocabulary Questions: :
86.  The word ‘pronouncements’ in the above passage means

(A) Discussion (B) Debate
(C)  Statement (D) Argument
8% The phrase 'by leaps and bounds' means .
. (A) Slowly (B) Very rapidly
- (©) Obviously (D) None of'above
88. The word 'intimately' means
(A) Manage (B) Quickly
<) Casually (D) Very closely
89. The antonym of the word 'trivial' is
(A) - Useless (B) Significant
(C) ' Insignificant (D) Carcless
90. The synonym of 'apparent' is . - : :
(A)  Reluctant (B) Unwilling
(C) Obvious (D) Dark
91. The synonym of 'ominous' is
(A)  Wonderful (B) Threatening
(C)  Exciting (D) Enthusiastic
92.  'Altercation' literally means
(A)  Alternative ‘ . (B) Hate
(9] Quarrel 2 (D) Active enmity

Syntactic Ability Questions:
Choose the correct alternative.

93. The delegation comprises ......;...Ninc members.
(A) In B) of
(C) Up . (D) None of the above.

94.  Which of the following is correct English expression?
(A)  No sooner had the rain stopped then the guests arrived.
(B) No sooner had the rain stopped and the guests arrived,
(C)  No sooner had the rain stopped than the guests arrived.
(D) No sooner had the rain stopped but the guests arrived.
95. The teacher as well as her assistant.....
(A)  Areabsent today (B) is absent today
(C)  is present yesterday - (D) were present yesterday
96. She employs a maid to do........... : -
(A)  Either the cooking or washing for her family. -
(B) Not only the cooking but also washing for her family.
(C)  Neither the cooking nor washing for her family.
(D)  Both the cooking and washing for her family.

[430] wtr wrereeg aex m



97.

98.

100.

1 wish the speaker.........

(A)  klaborated on his experience in and dedication to teaching.
(B)  Llaborates his experience in and dedication to teaching.
(©) Flaborates on his experience and dedication to teaching.
(D) Elaborated his experience in and dedication to teaching.
Take an umbrella, in case i

(A) It might rain toe (B) It rains

(C)  ltwill rain, - (D) It should rain

Which article can be used in the sentence "She left........... hour ago."
(A) a (B) the

(C) .an (D)  None of the above

Which one is the correct English expression?

(A) ~Mary has been living in this house since long ago.

(B)  Maryis living in this house from her childhood.

(©) Mary has lived in this house before it was built.

(D)  Mary had lived in this house before she moved into this locality.

- The End

maﬁas«m,mm-ma



@ qar IR

msrﬁ?gaqahi!rﬁ armfefyss awe fafv=r Save, e sifum a1 @

T fufd o RewvvqR 2

HAY:- 3 quig:- teo
.- fodiy fowa:- 99T TS (Governance System)

1 TTEEH T Section FTIR FATe FYFAHA SIS, 37991

IR © 19 | |

Section— A
g T dus 2y v figmes sow THEN | §EE U
oS S I FHiae! Bie Mel S5 2 T=9 THa |

(4 +4) =2

Mention the purposes and principles of United Nation's Organlzauon (UNO).
How far UNO has achieved it's purpose ? Discuss.

AT YE W HHE MET TGIOR INESh qoeded fauaE
Wm%mgmﬁmm?ﬁw
Tliaﬁl 20

What kind of improvements would be suitable to the present adnumstratwe
structure for the effectiveness of federal governance system initiated by
Nepal ? Present your logic

& A T WER Y (R R & ?mﬁmﬁ%wﬁaﬁq I 20

Whether governance and government are same ? Give answer with
appropriate illustration.

Section- B
mwxmwtua@ﬁmm
ueH WS sEeE M fAEEE aRE VR MR |

(W +4) =

Highlight the principle adopted in the existing constitution of Nepal in relation
to the preservation and the promotion of democratic norms and values.

Teoquft SEIRI_ | Write short notes on:

A) TSRS fa9E (Affirmative action)
B) WE[CITﬁ"ﬁT yfafafacs (Proportional representation)

B TP S T



_go-

Section- C

weEE g 1" A e gfe T AR

"Transparency and accountability are the two main pillar of public service
delivery." Justify the statement.

Wmmmmtﬁmmmm'
mmmﬁﬁmmwml g0

Mentioning the main causes for the degradation of ethics and morality in the
public fund administration of Nepal, discuss the methods for its remedieg.

BrEH] mﬂ'ﬂ'ﬂﬁaﬁ I'Write short notes on: (W +y) =20

_a) FHERIGHH fasrwar (Characteristics of bureaucracy)
" b) ﬁﬁjﬂq EULSE (E-govérriance)

Section - D

YN AT B ST i iRy | e it

TEHAT ST T TOREH T R 1 (aey) =20

Explain the different dimensions of Human Resources Management.
Mention the steps involved in acquiring the personnel.

AT Frf e & e Bhame TR e | SV TR |
. # b ' zo
What are the activities involved in the formulation of a plan? Explain.

AT
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i qar S
TAIREA A Ao, sty awe R SeaE, wran sifted o W
WE TR i wwom i fofaa v :
063/27/ R .
Tug:- 3 OO quiig: 2e0
- W
ﬁ;ﬂ'q' Tamtys faag (Contemporary Issues) -
=1 g¥TesH I Scction Ww@wgﬁaméqq% e
TR T §1 |

Section - A

2. mwmmwmﬁammmtm
YRETH SAURUTET FHR T T T | %0

Clearly spell out the concept of social protection and clarify its
interrelationship with the concept of social safety and social security.

. orifgg stfvmfe ogEr YR veeer S aRenfia R
T 2 T IR T TUHT e TRonefl STeeIeeR SERr |
: (3+9) =

How the term "refugee” is defined under international convention ? Clarify
and write down about-the Bhutanese refugee management in Nepal .

3. ‘SdEaRE oA e ® @ 7 g% ¥y Pramones
Frecarfea 7 ofiga a1 sRifgg qew & o ToueE fHeRT
T ? I UHE | (3+4) =

What do you mean by "terrorist financing” ? What kind of arrangements are
made at the national and international level to denounce such illegal activities?
Clarify.

Section-B -

¥. o Heif TS & GFAEO ? JUOE UGS dafTe A %
o e fgml o 2 W Rl (W W) =20

What do you mean by "Economic Diplomacy" ? What sort of importance has
been given to it in the foreign pelicy of Nepal ? Give your opinion.

'+ [3R¥] ot wrrurg v w



Ro.

FrTAeFATRl SATURAT e ga e @i @ gl snffe
ETEER! Wfew TR 79 T ATy Wied qwen gfe T difnen I
W I 20

What in your opinion could be three important economic sectors on a priority

basis for speeding up economic growth of Nepal ? Give a logical answer
supporting by relevant facts and statistics.

Section- ¢

Mﬁmmmmﬁmmm
ST 1" T SRR ST R e | %0

"Devolution carries the highest degree of decision making mdependence at the

“lower level." Present your view in this régard.

TurH fasraa miteres T gifieed g ar SRt TSR | 20

Mention the development issues and challenges in Nepal.

Torehraeh! o1 I TR WA TR edTeE GEFE
T URo ? 928 T SR Tiga SAE gy e | %0

In which sector of development, the non-state actors can play effective role
than state mechanism? Give your suggestion with facts and examples.

Section- D
W%@wwaﬁﬁmﬁﬁ@ﬂmﬁﬁwmﬁ%
% e ITTEE AT T 2 SerTd TIH TEd THAY | 20

Nepal is facing highest level of energy crisis at present. What alternative
strategies Nepal should adopt to minimize the present crisis? Give in points.

e A5t S o vegEw o wfieg qw srifeg
JAER SR | , %0

Present the initiatives taken nationality and internationally for the promotion
of environment friendly sustainable development.

AT
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